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SA: QHEX B
I NS IR(SELNINL/NALEA)
Cel: Met=o] EXEEAAH 2= (SH9 H2)
A BE - HA(BIAH) - ARANY - BES Off &4 & A Z
[ 4,000 0 4,000
Al 214,662 168,762 45,900
CRHFA GHHAIEE 23 € RAIES 39,000 0 39,000
= 4,000 0 4,000
Al 35,000 0 35,000
201 Let=23 | 39,000 0 39,000
= 4,000 0 4,000
Al 35,000 0 35,000
01 AtR22lH| 39,000 0 39,000
OF2ZEANE &5 & FH
200,000& *1950H A 39,000 0 39,000
== 4,000 0 4,000
Al 35,000 0 35,000
C2EFA HIXE 57,780 46,880 10,900
401 Al HIZL 01| 10,900 0 10,900
01 Al 10,900 0 10,900
OXts8 Hedst M (a2s2elAgA
St=HMelArg &) 5,450,000 29 2 10,900 0 10,900
N EAALY =& 106,306 104,664 1,642
= 106,306 104,664 1,642
201 er23 | 6,809 5,167 1,642
= 6,809 5,167 1,642
01 AtR2tc|Hl 6.809 5,167 1,642
OXIETHEAAIY AtR2te|d]
6.,809,000& 6.809 5,167 1,642
= 6,809 5,167 1,642
SHZHI (IR EXI) (DIEH/DIE 64,522 63,993 529
= 11,200 11,200 0
Al 53,322 52,793 529
=3l 25,329 24,800 529
JlI=2&Hl 25,329 24,800 529
405 RHaks S| 3,529 3,000 529
01 ML ESFH SHI 3,529 3,000 529
O&FEAD| ¢ 529,000 529 0 529




